

https://doi.org/10.26637/MJM0801/0038

On Aboodh transform for fractional differential operator

Tukaram G. Thange ¹* and Anantha R. Gade ²

Abstract

In this paper we introduce Aboodh transform for the different fractional differential operators. Using this transform solution of initial value fractional order differential equation is given and finally, we discuss some illustrative examples on the above results.

Keywords

Aboodh Transform, Riemann-Liouville and Caputo fractional derivative, Mittag-Leffler Function, Fractional differential equations.

AMS Subject Classification 26A33.

¹ Department of Mathematics, Yogeshwari Mahavidyalaya Ambajogai, Beed-431517, Maharashtra, India.

² Department of Mathematics, M.S.P. Mandals Arts, Science & Commerce, Dharur-431124, Maharashtra, India.

*Corresponding author: 1 tgthange@gmail.com

Article History: Received 02 September 2019; Accepted 18 January 2020

©2020 MJM.

Contents

- 1Introduction2252Preliminaries2252.1Definition and properties of Aboodh transform: 226
- 2.2 Aboodh Transform of some fractional operators: 226

1. Introduction

Like classical theory of calculus, fractional calculus also has so many importance in different field like Statistics, Physics, Engineering, namely in control engineering [11], Electromagnetism [8], Fluid Mechanics [9], Diffusion Theory [10] and so on. From the last some decades fractional differential equations become most useful tool to solve many problems in this fields. So, we must develop the domain of solvable set of fractional differential equation.On the parallel line integral transform is the convenient way for solving differential equation of fractional order. Now a day there are so many methods has developed, using integral transforms like Laplace [12], Sumudu [13], Kamal [15], Shehutransform [14], Z-transform [16] are used to solve Fractional Differential Equation. The motivation behind this study is to develop thenewway of solution for fractional differential equation with the help of Aboodh Transform. We generalize the definition of Aboodh Transform of differential operators from integer order to fractional order and use it, to solve problems of fractional differential Equations.

2. Preliminaries

Definition 2.1. *Mittag-Leffler Function* [1, 2] *is the generalization of exponential function denoted by* $E_{\alpha}(z)$ (for one *parameter),* $E_{\alpha,\beta}(z)$ (for two parameter) defined as,

$$E_{\alpha}(z) = \sum_{k=0}^{\infty} \frac{z^k}{\Gamma(\alpha k + 1)} \quad \alpha \in \mathbb{R}^+, \ z \in C$$
(2.1)

$$E_{\alpha,\beta}(z) = \sum_{k=0}^{\infty} \frac{z^k}{\Gamma(\alpha k + \beta)} \quad \alpha, \beta \in \mathbb{R}^+, \ z \in C \quad (2.2)$$

Definition 2.2. *The Riemann-Liouville* [1, 2] *fractional derivative of function* $f : (0, \infty) \rightarrow R$ *, for* $\alpha \in R^+$ *is defined as,*

$$D^{\alpha}f(t) = f^{(n)}(t), \quad \text{for } \alpha = n \in N$$
$$= \frac{d^{\alpha}}{dt^{\alpha}} \frac{1}{\Gamma(n-\alpha)} \int_{0}^{t} \frac{f(s)}{(t-s)^{\alpha-n+1}} ds, \qquad (2.3)$$

for $\alpha \neq n \in R - N$. Where, $\Gamma(z)$ is Euler Gamma function [?] which is generalization of factorial function from set of integers to the set of complex numbers, Defined as,

$$\Gamma(z) = \int_0^\infty t^{z-1} e^{-t} dt, z \in C, \text{ with } Re(z) > 0.$$

Definition 2.3. *The Caputo fractional* [1, 2] *derivative of function* $f: (0, \infty) \rightarrow R$ *is defined as,*

$$D^{\alpha}f(t) = f^{(n)}(t), \quad \text{for } \alpha = n \in N$$
$$= \frac{1}{\Gamma(n-\alpha)} \int_0^t \frac{f(s)}{(t-s)^{\alpha-n+1}} ds, \quad (2.4)$$

for $\alpha \neq n \in R - N$.

2.1 Definition and properties of Aboodh transform:

The new integral transform name as Aboodh transform [3] defined on set *S* of functions,

$$S = \{f(t) | \exists M, k_1, k_2 > 0, |f(t)| < Me^{-\nu t} \}$$

Where *M* is finite number and k_1, k_2 may finite or infinite.

The Aboodh transform is denoted by $\mathscr{A}[p(t)]$.

Defined as, the integral equation of the form,

$$\mathscr{A}[p(t)] = q(v) = \frac{1}{v} \int_0^\infty p(t) e^{-vt} dt, \ t \ge 0, k_1 \le v \le k_2$$
(2.5)

Definition 2.4. *Inverse Aboodh transform* [5, 7] *of function* q(v) *denoted by* $\mathscr{A}^{-1}[q(V)]$

Defined as,

$$\mathscr{A}^{-1}[q(V)] = p(t) = \frac{1}{2\pi i} \int_{u-i\infty}^{u+i\infty} v e^{vt} q(v) dv \qquad (2.6)$$

2.2 Aboodh Transform of some fractional operators: In this section we prove Aboodh Transform of different fractional differential operators.

Theorem 2.5. If Aboodh transform of function p(t) is q(v) then Aboodh transform of Riemann-Liouville fractional derivative of order $\alpha > 0$ is,

$$\mathscr{A}[D^{\alpha}p(t)] = v^{\alpha}q(v) - \sum_{k=1}^{n} \left[v^{k-2}D^{\alpha-k}p(t) \right]_{t=0} \quad (2.7)$$

Where, $n-1 < \alpha \leq n, n \in N$.

Proof. Suppose first that Aboodh transform of function p(t) is q(v) and Riemann-Liouville fractional derivative of order $\alpha > 0$ is,

$$D^{\alpha}p(t) = \frac{d^{\alpha}}{dt^{\alpha}} \left[\frac{1}{\Gamma(n-\alpha)} \int_0^t \frac{p(s)}{(t-s)^{\alpha-n+1}} ds \right]$$

by Applying Laplace Transform on both to this equation we get,

$$L[D^{\alpha}p(t)] = v^{\alpha}L[p(v)] - \sum_{k=0}^{n-1} \left[v^{k}D^{\alpha-k-1}p(t) \right]_{t=0}$$

$$L[D^{\alpha}p(t)] = v^{\alpha}L[p(v)] - \sum_{k=1}^{n} \left[v^{k-1}D^{\alpha-k}p(t) \right]_{t=0}$$

Using Aboodh-Laplace Duality, $L[p(t)] = v \mathscr{A} p(t)$ [6] we get,

$$v\mathscr{A}[D^{\alpha}p(t)] = v^{\alpha}v\mathscr{A}[p(v)] - \sum_{k=1}^{n} \left[v^{k-1}D^{\alpha-k}p(t)\right]_{t=0}$$
$$\mathscr{A}[D^{\alpha}p(t)] = v^{\alpha}\mathscr{A}[p(v)] - \sum_{k=1}^{n} \left[v^{k-1}D^{\alpha-k}p(t)\right]_{t=0}$$
$$\mathscr{A}[D^{\alpha}p(t)] = v^{\alpha}q(v) - \sum_{k=1}^{n} \left[v^{k-2}D^{\alpha-k}p(t)\right]_{t=0}$$
(2.8)

This is the required proof.

Theorem 2.6. If Aboodh transform of function p(t) is q(v) then Aboodh transform of Caputo fractional derivative of order $\alpha > 0$ is,

$$\mathscr{A}[D^{\alpha}p(t)] = v^{\alpha}q(v) - \sum_{k=1}^{n} \left[v^{\alpha-k-1}D^{k-1}p(t)\right]_{t=0}$$
(2.9)

Where, $n-1 < \alpha \leq n, n \in N$.

Proof. Given that Aboodh transform of function p(t) is q(v) and Caputo fractional derivative of order $\alpha > 0$ is,

$$D^{\alpha}f(t) = \frac{1}{\Gamma(n-\alpha)} \int_0^t \frac{f^{(n)}(s)}{(t-s)^{\alpha-n+1}} ds$$

by Applying Laplace transform on both to this equation we get,

$$L[D^{\alpha}p(t)] = v^{\alpha}L[p(v)] - \sum_{k=0}^{n-1} \left[v^{\alpha-k-1}D^{k}p(t) \right]_{t=0}$$
$$L[D^{\alpha}p(t)] = v^{\alpha}L[p(v)] - \sum_{k=1}^{n} \left[v^{\alpha-k}D^{k-1}p(t) \right]_{t=0}$$

Using Aboodh-Laplace Duality [6],

$$v\mathscr{A}[D^{\alpha}p(t)] = v^{\alpha}v\mathscr{A}[p(v)] - \sum_{k=1}^{n} \left[v^{\alpha-k}D^{k-1}p(t) \right]_{t=0}$$
$$\mathscr{A}[D^{\alpha}p(t)] = v^{\alpha}\mathscr{A}[p(v)] - \sum_{k=1}^{n} \left[v^{\alpha-k-1}D^{k-1}p(t) \right]_{t=0}$$

$$\mathscr{A}[D^{\alpha}p(t)] = v^{\alpha}q(v) - \sum_{k=1}^{n} \left[v^{\alpha-k-1}D^{k-1}p(t) \right]_{t=0}$$
(2.10)

This is the required proof.

3. Applications of Aboodh Transform for solving Fractional Differential Equation:

3.1 Solve fractional order differential equation of the form,

$$D^{\alpha}(p(t)) = p(t)$$
 With $p(0) = p_0$, Where $\alpha \in \mathbb{R}^+$

Taking Aboodh transform on both side we get,

$$\mathscr{A}\{D^{\alpha}(p(t))\} = \mathscr{A}[p(t)]$$
$$v^{\alpha}q(v) - \sum_{k=1}^{n} v^{\alpha-k-1}D^{k-1}p(t) = q(v)$$
$$v^{\alpha}q(v) - \sum_{k=1}^{n} v^{\alpha}v^{-k-1}D^{k-1}p(t) = q(v)$$
$$v^{\alpha}q(v) - q(v) = \sum_{k=1}^{n} v^{\alpha}v^{-k-1}D^{k-1}p(t)$$
$$(v^{\alpha}-1)q(v) = \sum_{k=1}^{n} v^{\alpha}v^{-k-1}D^{k-1}p(t)$$
$$q(v) = \frac{v^{\alpha}}{(v^{\alpha}-1)}\sum_{k=1}^{n} v^{-k-1}D^{k-1}p(t)$$

By taking inverse Aboodh Transform on both side we get,

$$\mathscr{A}^{-1}\{q(v)\} = \mathscr{A}^{-1}\{\frac{v^{\alpha}}{(v^{\alpha}-1)}\sum_{k=1}^{n}v^{-k-1}D^{k-1}p(t)\}$$

$$p(t) = \mathscr{A}^{-1}\left\{\frac{v^{\alpha}}{(v^{\alpha}-1)}\sum_{k=1}^{n} v^{-k-1}D^{k-1}p(t)\right\}$$
(3.1)

Example 3.1. Solve

$$D^{\frac{1}{2}}(p(t)) = t$$
, With $p(0) = p_0$, (3.2)

By taking Abooth transform on both sides we get,

$$v^{\frac{1}{2}}q(v) - [v^{\frac{1}{2}-2}p(0)] = \frac{1}{v^{3}}$$

$$v^{\frac{1}{2}}q(v) - v^{\frac{1}{2}-2}p_{0} = \frac{1}{v^{3}}$$

$$v^{\frac{1}{2}}q(v) = \frac{1}{v^{3}} + p_{0}v^{\frac{1}{2}-2}$$

$$q(v) = \frac{v^{-\frac{1}{2}}}{v^{3}} + p_{0}v^{\frac{1}{2}-2}v^{-\frac{1}{2}}$$

$$q(v) = \frac{1}{v^{3+\frac{1}{2}}} + p_{0}v^{-2}$$

$$q(v) = \frac{1}{v^{2+\frac{3}{2}}} + \frac{p_{0}}{v^{2}}$$

By taking inverse Aboodh transform on both side we get,

$$\mathscr{A}^{-1}\{q(v)\} = \mathscr{A}^{-1}\{\frac{1}{v^{2+\frac{3}{2}}} + \frac{p_0}{v^2}\}$$

$$p(t) = \frac{t^{\frac{3}{2}}}{(\frac{3}{2})!} + p_0$$
$$p(t) = \frac{t^{\frac{3}{2}}}{\frac{3}{4}\sqrt{\pi}} + p_0$$
$$p(t) = \frac{4t^{\frac{3}{2}}}{3\sqrt{\pi}} + p_0$$

is the solution of initial value fractional differential equation (3.2).

3.2 Solve fractional order differential equation of the form

$$D^{\alpha} p(t) + p(t) = \frac{2}{\Gamma(3-\alpha)} t^{2-\alpha} - \frac{1}{\Gamma(2-\alpha)} t^{1-\alpha} + t^2 - t$$
(3.3)

With $p^{(\alpha)}(0) = p\alpha = 0$, Where $\alpha \in R^+$ Taking Aboodh transform on both side we get,

$$\begin{aligned} v^{\alpha}q(v) - \sum_{k=1}^{n} v^{\alpha-k-1}D^{k-1}p(t) + q(v) \\ &= \frac{2}{\Gamma(3-\alpha)} \frac{\Gamma(3-\alpha)}{v^{2-\alpha-2}} - \frac{1}{\Gamma(2-\alpha)} \frac{\Gamma(2-\alpha)}{v^{1-\alpha+2}} + \frac{\Gamma(2)}{v^4} - \frac{1}{v^3} \\ v^{\alpha}q(v) - v^{\alpha}\sum_{k=1}^{n} v^{-k-1}D^{k-1}p(0) + q(v) \\ &= \frac{2}{v^{-\alpha}} - \frac{1}{v^{3-\alpha}} + \frac{2}{v^4} - \frac{1}{v^3} \\ v^{\alpha}q(v) + q(v) &= \frac{2}{v^{-\alpha}} - \frac{1}{v^{3-\alpha}} + \frac{2}{v^4} - \frac{1}{v^3} \\ (v^{\alpha}+1)q(v) &= 2(v^{\alpha}+1)\frac{1}{v^4} - (v^{\alpha}+1)\frac{1}{v^3} \\ q(v) &= \frac{2}{v^4} - \frac{1}{v^3} \end{aligned}$$

By taking inverse Aboodh transform on both side we get,

$$\mathcal{A}^{-1}\{q(v)\} = \mathcal{A}^{-1}\{\frac{2}{v^4} - \frac{1}{v^3}\}$$
$$p(t) = \frac{2t^2}{2!} - t$$

Finally gives,

$$p(t) = t^2 - t$$

is the solution of initial value fractional differential equation (3.5).



ı



Fig.1. Comparison of the exact solution of fractional order initial value differential equation & solutions using proposed work for different values of t.

3.3 Solve fractional order differential equation of the form,

 $D^{\alpha}p(t) + Dp(t) = p(t)$ With $p^{(\alpha)}(0) = p_{\alpha}$, Where $\alpha \in R^+$ Taking Aboodh transform on both side we get,

$$\begin{aligned} v^{\alpha}q(v) &- \sum_{k=1}^{n} v^{\alpha-k-1} D^{k-1} p(t) + vq(v) - v^{-1} p(0) = q(v) \\ v^{\alpha}q(v) &- v^{\alpha} \sum_{k=1}^{n} v^{-k-1} D^{k-1} p(t) + vq(v) - v^{-1} p_0 = q(v) \\ v^{\alpha}q(v) + vq(v) - q(v) &= v^{\alpha} \sum_{k=1}^{n} v^{-k-1} D^{k-1} p(t) + v^{-1} p_0 \\ (v^{\alpha} + v - 1)q(v) &= v^{\alpha} \sum_{k=1}^{n} v^{-k-1} D^{k-1} p(t) + v^{-1} p_0 \\ q(v) &= \frac{1}{(v^{\alpha} + v - 1)} \{ v^{\alpha} \sum_{k=1}^{n} v^{-k-1} D^{k-1} p(t) + v^{-1} p_0 \} \end{aligned}$$

By taking inverse Aboodh transform on both side we get,

$$\mathscr{A}^{-1}\{q(v)\} = \mathscr{A}^{-1}\{\frac{1}{(v^{\alpha} + v - 1)}$$
$$[v^{\alpha} \sum_{k=1}^{n} v^{-k-1} D^{k-1} p(t) + v^{-1} p_{0}]\}$$
$$(t) = \mathscr{A}^{-1}\{\frac{1}{(v^{\alpha} + v - 1)}[v^{\alpha} \sum_{k=1}^{n} v^{-k-1} D^{k-1} p(t) + v^{-1} p_{0}]\}$$

Example 3.2. Solve $D^{\frac{3}{2}}p(t) + Dp(t) = t$, With initial conditions,

$$p(0) = p_0 = 0,$$

 $Dp(0) = p_1 = \frac{1}{v}$
(3.5)

By taking Abooth transform on both sides we get,

р

$$v^{\frac{3}{2}}q(v) - \sum_{k=1}^{2} v^{\frac{3}{2}-k-1} D^{k-1}p(t) + vq(v) - v^{-1}p(0) = \frac{1}{v^{3}}$$

$$\begin{split} v^{\frac{3}{2}}q(v) - v^{\frac{3}{2}-2}p(0) - v^{\frac{3}{2}-3}Dp(0) + vq(v) - v^{-1}p(0) &= \frac{1}{v^3} \\ v^{\frac{3}{2}}q(v) - v^{-\frac{1}{2}}p(0) - v^{-\frac{3}{2}}Dp(0) + vq(v) - v^{-1}p(0) &= \frac{1}{v^3} \\ v^{\frac{3}{2}}q(v) - v^{-\frac{1}{2}}p_0 - v^{-\frac{3}{2}}p_1 + vq(v) - v^{-1}p_0 &= \frac{1}{v^3} \\ v^{\frac{3}{2}}q(v) + vq(v) &= v^{-\frac{1}{2}}p_0 + v^{-\frac{3}{2}}p_1v^{-1}p_0 + \frac{1}{v^3} \\ (v^{\frac{3}{2}} + v)q(v) &= v^{-\frac{1}{2}}p_0 + v^{-\frac{3}{2}}p_1v^{-1}p_0 + \frac{1}{v^4} \\ (v^{\frac{1}{2}} + 1)q(v) &= v^{-\frac{3}{2}}p_0 + v^{-\frac{5}{2}}p_1v^{-2}p_0 + \frac{1}{v^4} \\ (v^{\frac{1}{2}} + 1)q(v) &= v^{-\frac{5}{2}}v^{-1} + \frac{1}{v^4} \\ (v^{\frac{1}{2}} + 1)q(v) &= v^{\frac{1}{2}-4} + \frac{1}{v^4} \\ (v^{\frac{1}{2}} + 1)q(v) &= (v^{\frac{1}{2}} + 1)\frac{1}{v^4} \\ q(v) &= \frac{1}{v^4} \end{split}$$

Then by taking inverse Aboodh Transform on both side we get,

$$\mathscr{A}^{-1}\lbrace q(v)\rbrace = \mathscr{A}^{-1}\lbrace \frac{1}{v^4}\rbrace$$
$$p(t) = \frac{t^2}{2!}$$

is the solution of initial value fractional differential equation (3.5).

4. Conclusion

From this study it is conclude that with the help of Aboodh transform we can easily find the solutions of initial value fractional differential equations of any order $\alpha \in R^+$. This method is applying for both the types, Homogeneous or Nonhomogeneous differential equations of fractional order in the given forms. From the graph it is clearly observe that by using Aboodh transform we get exact analytic solutions of Fractional Differential equation.



(3.4)

References

- V. Lakshmikantam, A. S. Vatsala, Basic theory of fractional diffe-rential equation, *Nonlinear Analysis*, 69(8)(2008), 2677–2682.
- [2] Elif Demirci, Nuri Ozalp, A methods for solving differential equation of fractional order, *Journal of Computational and Applied Mathematics*, 236(11)(2012), 2754– 2762.
- [3] Khalil Suliman Aboodh, The new integral transform Aboodh transform, *Global Journal of Pure and Applied Mathematics*, 9(1)(2013), 35–43.
- [4] Mountassir H. Cherif and Djelloul Ziane, Variational iteration method combined with new transform to solve fractional partial differential equation, *Universal Journal* of Mathematics and Applications, 1(2)(2008), 28–38.
- [5] Mohand M. Abdelrahim Mahgoub and Abdelbagy A. Alshikh, On the relationship between aboodh transform and new integral transform Z-transform, *Mathematical Theory and Modelling*, 6(9)(2016), 113–119.
- [6] K. S. Aboodh, Abdullahi Idris and R. I. Nurudeen, On the Aboodh transform connection which some famous integral transformer, *International Journal in Engineering and Information System*, 1(2017), 1024–1030.
- [7] Sudhanshu Agrawal, Nidhi Sharma, Raman Chauhan, Application of Aboodh transform for solving linear Voltteraintegro differential equation of second kind, *International Journal of Research in Advanced Technology*, 6(6)(2018), 13–29.
- [8] N. Engheta, On fractional calculus and fractional multipoles in elec-tromagnetism, *IEEE Trans. Antennas Propagations*, 16(1)(1996), 554–566.
- [9] F. Mainardi, Fractional calculus: in basic problems in continuum and statistical mechanics, *Fractals and Fractional Calculus in Continuum Mechanics*, 1(1997), 291–348.
- [10] V. G Ychuk, B. Datsko, V. Meleshko, Mathematical modelling on time fractional reaction diffusion system, J. *Comput. Appl. Math.*, 220(1)(2008), 215–225.
- [11] F. B. M.Duarte, J. A. T. Machado, Chaotic phenomenon and frac-tional dynamics in the trajectory control of redundant manipulator, *Nonlinear Dynamics*, 29(1)(2002), 343–362.
- [12] Li Kexue, Peng Jigen, Laplace transform of fractional differential equation, *Applied Mathematics Letters*, 24(2011), 2019–2023.
- [13] Qutaibeh Deeb Katatbeh, Fethi Bin Muhammad Belgacem, Application of Sumudu transform to fractional differential equations, *Nonlinear Studies*, 18(2011), 99– 112.
- ^[14] Rachid Belgacem, Dumitru Beleanu, Ahmed Bokhari, Shehu Transform and applications to Caputo fractional Differential Equation, *International Journal of Analysis and Applications*, 17(6)(2019), 917–927.
- [15] R. Khandelwal, P. Choudhary and Y. Khandelwal, Solution of fractional order differential Equation by Kamal Transform, *International Journal of Statistics and Ap-*

plied Mathematics, 3(2018), 279-284.

[16] Zain Ul Abadin Zafar, Application of Z-transform method on some fractional differential equations, *International Journal of Advance Engineering and Global Technology*, 4(2016), 14–23.

> ******** ISSN(P):2319 – 3786 Malaya Journal of Matematik ISSN(O):2321 – 5666 ********